Dividing by numbers between 0 and 1

	Number
	Question
	Prediction
	Answer
	Conclusion

	Example
	23 ( 0.2
	My answer will be more than 23.
	115
	I was right. It was more than 23.

	1
	36 ( 0.6
	
	
	

	2
	48 ( 0.8
	
	
	

	3
	65 ( 0.5
	
	
	

	4
	24 ( 1.2
	
	
	

	5
	45 ( 1.5
	
	
	

	6
	39 ( 0.3
	
	
	

	7
	22 ( 2.4
	
	
	

	8
	28 ( 0.7
	
	
	

	9
	26 ( 3.2
	
	
	

	10
	28 ( 0.2
	
	
	

	11
	67 ( 0.1
	
	
	

	12
	864 ( 0.5
	
	
	

	13
	936 ( 1.3
	
	
	

	14
	54 ( 0.8
	
	
	

	15
	264 ( 1.25
	
	
	

	16
	54 ( 0.62
	
	
	

	17
	242 ( 0.15
	
	
	

	18
	12 ( 0.4
	
	
	

	19
	15 ( 1.02
	
	
	

	20
	100 ( 0.65
	
	
	


21) What have you found?

